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AR =1 223,722 117.9 271, 634 103. 8 82. 4 72.5
i =04t 48, 368 97. 4 61, 500 87.5 78. 6 70.7
IR = v 470 — 500 — 94.0 —
oA 272, 560 113.9 333, 634 100.5 81.7 72. 1

BAI7a31—4—(JAC) [hiBEEERHR

kv - Fv | Es () | RER (%) |3 ) | EER (%) | BUHE (W) RUERHE (%)
R85 = ok B 2,351 - 2,976 — 79. 0 —
wast 2,351 — 2,976 — 79. 0 -
BARMZE HEXE LR 098-858-4833

BARNUDRA—vMMZE R 098-858-5912



HR KNS 24— v o #i%8 (JTA)

E%?%?%Zl jﬁ? E ié‘q:% * EK'TE
)i&% 40N AL (%) AL () A4ELE (%) FIAE (%) BIAEFIH R (%) Hh(t) A4ELE (%)
B w=3 % 24,101 122.8 31, 560 114.6 76. 4 71.2 187 99. 1
& M= #H 45, 151 111.7 61, 380 100. 3 73.6 66. 1 423 97.5
¥ oH=A = 17,921 108.9 20, 460 100. 0 87.6 80. 4 182 148.9
¥ OH=T & 9, 535 112.1 10, 230 100. 0 93.2 83.2 64 170. 8
B ZE=f I8 7, 348 106.9 10, 230 113.5 71.8 76.3 35 73.8
e =HK 12, 358 106. 3 14, 520 98.2 85. 1 78.6 17 74.5
VA A 6, 192 107.5 10, 230 113.8 60.5 64. 1 27 90. 2
BOE=AR B 30, 599 113.4 40, 920 103. 1 74.8 68.0 274 82.7
AL BB 153, 205 112.4 | 199,530 103.9 77.8 72.2 1, 209 99. 6
B’ #F=F & 61, 158 105. 6 82, 140 104. 3 74.5 73.6 857 85. 4
” H= H 40, 464 100. 1 71,610 108. 4 56.5 61.2 650 83.3
B F=AKE 6,863 108. 2 10, 030 106.8 68. 4 67.6 41 74. 4
N BB 108, 485 103. 6 163, 780 106. 2 64.9 67.0 1, 547 84.2
TE AR A 261, 690 108.6 | 363,310 105. 0 75. 4 71.2 2, 757 90. 3
REM KA G 609 S 910 - 66.5 0.0 0 -—
N S 262, 299 108.9 | 364, 220 105. 2 75. 4 71.2 2, 757 90. 3
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A F=Av KH 1,158 100. 2 1,500 96. 8 77.2 74. 6 6 89.0
B HH=F KR 3, 146 118.2 4,600 100.0 68. 4 57.8 20 100. 3
A FH=5 2,630 104.3 3,100 100. 0 84.8 81.3 1 98.8
I EFH=AKE 14,716 102.5 18, 600 100. 0 79.1 77.2 113 88.7
;N #FH=F = 1,716 103. 2 3,100 100.0 55. 4 53.6 5 52.4
I EFH=HIKE 1,811 92.3 3, 050 100.0 59. 4 64. 4 22 92.8
i FH== 2,630 111.2 3, 400 111.5 77.4 77.6 32 100. 0
! FH=A = 1,995 97.8 3, 100 100. 0 64. 4 65.8 20 81.2
HOE=% B 3, 807 109. 1 6, 200 100. 0 61.4 56.3 19 88. 4
FARE=IL K 1,071 105. 1 1,500 96. 8 71.4 65. 7 4 84.5
i HE=5IRE 6, 247 99. 4 9, 100 99.5 68.6 68.7 42 95.6
B W= | 5,262 100. 2 6, 200 101.6 84.9 86. 1 18 61.6
TE M AR A B 46, 189 103. 2 63, 450 100. 5 70.9 69. 4 303 87.7
A TE AR 0 —— 0 — - 0 -—
SRR AR 46, 189 103. 2 63, 450 100.5 70.9 69. 4 303 87. 7
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B F=AKE 21,579 104. 2 28, 630 102.3 75. 4 74.0 154 84. 4
!’ F=E & 63, 788 105. 8 85, 540 104. 6 74.6 73.7 889 85.9
W FH=p 42, 459 100.0 74,710 108. 0 56.8 61.4 670 83.2
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RACAtHEML AR
583, 399 111.1 | 764,280 103.1 76.3 70. 8




